600

t >

Parts identification (1: 4)

Bottom view (1:3)
680

Execution: Hexagon head screw DIN 4017-M8*120-8.8-A4C

25
==l

A(1:3)

Through hole for screw M10
acc. to the manufact. requirements

Execution:

Reinforcement acc. to manufact. requiements

Zinc electrodeposited

Rubber strip acc. to standard (Neoprene, diesel fuel
resistant)

Strap material: SM-bnadsteel of deep-drawing quality

—— EH-%%E

Execution: Safety nut DW985-M8-8-A

ltem | Qty Description Material
1 1 |Band Zinc plated, Steel, Mild
2 1 |Plate Zinc plated, Steel, Mild
3 1 |Rubber part Neoprene rubber
4 1 | Trunnion @14x23x@8,5 Zinc plated, Steel, Mild
5 1 |Hex head screw M8x120 Zinc plated, ST 8.8
6 1 | Sefety nut DW 985- M8 Zinc plated, ST 8.8
7 1 | Square nut @10,5mm Zinc plated, Steel, Mild
Revision history
Rev. Date Description AUTHOR
- 09-04-2009 |Drawing created M. Schaill
1 13-12-2013 | Drawing renewed Gyula
: PN - T,m©201?:\,/IZNCZ,|§[L)USTRlES BV, developed and designed by MPC INDUSTRIES BV
HWN &
NOTICE TO PERSONS RECEIVING THIS DRAWING AND/OR TECHNICAL INFORMATION: M ate I'i a | : D | men Si ons:
MPC !ndustﬁes BV cl;ims proprietary rigths to the m_ateri_al disc\osedvhereon‘ This drawing and/or
enroniy sy e G reers s zura e © | Doc no.: SG0036-1.dwg
permission from MPC Industries BV to the user. This drawing and/or technical ion is the
property of MPC Industries BV and is loaned for mutual assistance to be returned when its purpose Third angle projection: Part number
l;f-iswsb eDng:Vevr\\;\Jeg‘ANDIOR TECHNICAL INFORMATION IS THE PROPERTY OF MPC INDUSTRIES
. & SG0036-1
DO NOT SCALE FROM DRAWING. {96
Drawn by: Gyula Creation date: 13-12-2013 Description: Revision
Checked by: Checked date: ?:/IIPC Induztnej’ g(g?)r(])g%an\(/jV’l 1
Scale 1:3 Units: mm amping band, ’ Format:
Status: Released A3

MPC Industries B. V. Badweg 38 8401 BL Gorredijk Postbus 225 8400 AE Gorredijk. Tel.: . 0513 465477 Fax:. 0513 465736




